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WUE-3H / (Section-A)
nﬁmﬁmfﬂwﬁ.iﬁfmxmmmmt?
If the light source is point-size, then what type of waveform is formed?

v e e sifen ufn ¢ wicn ufn ? faqa e @ S|

T [+ %

Whether electrical flux is a scalar or a vector quantity? Write the Sl
unit of clectric flux,

B et wn ) Y faavand fafa)

Write two propertics of de Broghie wave.

Il"_; L
ra o

fawi wifu sris w yra sfvAfa § @R & fag 38 $@0 &\ fas wwn
g T afeg ?

How should a junction diode be connected to a battery to keep it
backwards?

faye wurfta g wearadl wr wiee F dea it v § d@ A
frmem t?

What is the phase difference between voltage and current in an AC
circuit containing pure capacitor?

WUE-¥/ (Section-B)
Tl o el yarm & forg oo $2 0 I9dm fem o &, =412

Why short wave bands are used for long distance radio transmissions?

A EFmAadmgiticfcsar i FdR 2 Am =
favmiat & S, A fava waer ® WA F@ e

The length of the wire of the potentiometer is 8 meters. What will be

the valuc of the voltage gradient when 2 volts potential difference is
applicd at its ends?
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What is called dispersion of light?

Urr-9  ¥n ¥l faasd wfrerd w10 wF, 18 pF e 30 pF €, dfm
A g ¢, A wdram w1 =0 uifen 3@ FfAg) 12
Three capacitors, whose capacitances are 10 pF, 15 pF and 30 pF
respectively. are connected in series order. then find the equivalent
capacitance of the combination.

TY-10 v afr sfrivem § @ s T [1+1=2]

What are the two differences berween resistance and resistivity?

wug-d / (Section-C)
ftﬁﬁammmﬁmmmﬁt?ﬂfﬂ-ﬁﬁmm
e wm (¥ 2N ?
What do vou understand by the internal resistance of a cell? What

factors does it depend on (any two)?

[142=3)

ova-12  freferaa w vioma fafag [1+41+1=3])
(h FA®M
(i) from & w
(i) T & Jaw o % ofaw dem
Write the definitions of the following :
() Angleof Dip
(i) Angle of Declination

(i) Horizontal intensity of carth’s magnetic field
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¥ @M 7w wifag | [142=3)
(@) What is cocflicient of self-induction?
(b) A current of 1.5 amperes in a 800 lums coil produces
1.5 * 10°5 weber magnetized flux in each lum. Find out the
self-inductance of coil.
107X #1019 7rin.- #of wom A farge- yradta @i T M fefa st
[142=3)

TRE 3 werrqel IgEm fafay |
Name the electromagnetic wave of wavelength range 1074 10 10104

and write two important uscs of il.

fed 30 ¥t w0 F 7o S ¥ Wk g @ 20 A, wrwE O &
AT HA F AR | T Ay o 3 wren g 70 €2 w1 g9y Wi
afvril €\ E e arowmd ? [2+1=3)
What is the focus distance of a combined lens made by combining
concave lens of 20 cm focus distance placed in contact with a convex
lens of 30 em focus distance? Whether this combination is convergent

lens or divergent?

YA Few &2 v ) fafa [142=3]
What is ground wave propagation? Write its two propertics.
wifasw ®0 w gfonfaa Fifrg ) [ ™ § JvEd F |y
wifaa wifeg | [V+2=3)
Dcfine critical angle. Establish its relationship with refractive index
of the medium,

[142=3)

yr-faga v 7 ¢ 2 ya-fage sl & W @ Frm fafaw

What is photoclectric ¢ffect? Write any two laws for photoelectric

cmission.
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SF-19  TEPE WET o AR v ¥ fag seem s win-dd =
TS FHAT (R = 1.097°10°m™ 1) [1%+14%=3)
Calculate the mavimum and minimum wavelengths for the Lyman
serics of hvdrogen atom (R = 1.097» 10'm)
TF3-20 P-Nﬁummqﬂmm%nﬁﬁniﬁmmi: FTUR W
'S T [1+1+1=3]
(H Tese s
(i) FREY
(i) v B A Tw
Explain P-N junction diode as full-wave rectifier under the following
heads .
() Caircunt duagram
(i Working method
(i) Input and output voltage graph
wFa-21 Ay Srgvrs i ThveT dags § B A s fafa [3]
Write any three differences between nuclear fission and nuclcar

fusion.

¥-22 fro wffaw Tz ) W fofgg @ 9E9A S9E au wea wue
RS [1+1+1=3)

A O—
8 O— Y

Write the name of the following logic gate and also make Boolcan
expression and truth table :

A O———
B 00— %
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&1 M fafag
(if) mﬁﬁmmtmmmwﬂﬁm
(iid) uﬁvdﬂﬁﬁmnﬁwmmwﬁhaqﬂmm
Hifore [1+1+2=4) ,

The teacher of Pradeep's school took the students to the power plant
for an educational tour. The tcacher said that in the form of alternating
current, the transmission of electrical energy is done in cities for such
long distances. The aliemating current is raised 1o higher voltages
and the voltages arc reduced to operate the devices at receptive
locations in citics. This results in very little loss of energy. Pradcep
listencd carefully to the teacher and asked her questions aboul using
the altemnating current in more or less vollage,
(i) Namc the device to convert the altemative voltage to higher or
lower value.
(i)) Mcntion the causes of power loss in this device.

(#ii) Mention the twa values displayed by Pradeep and the teacher.

AT /0R

& faer o sifast : wan d &9 = fraw v @ QTR0 T 9@
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(iify e <ivam 4 S w1 fram favm wan wEmi £ 2

A 1cacher was tcaching the law of Lenz in his Physics class. e told

the children that Lenz's law tells us the direction of induced current

in the circuit. According 1o this rule, the dircction of the induced
clectric carrying force (clectromonive force) 1s always (for the
reasons) oppused to the change in the magnetic flux that caused it.
This means that if the electric canmrying force (clectromotive force)

is induced by the increase in the magnetic flux, the dircction of
clectromotive force will always oppose the increase in magnetic flux
and the opposite will always be true.

Answer the following questions :

() Does the law of Lenz not follow the law of conservation of energy?
(i) By which other law one can find the direction of induced current?

(iif) How is the law of Lenz useful in daily life?

@UE-% / (Section-E)

sTqadl wrireia gXee @ AmifEa fam st wifag am s e

feru =iwe =1 Fifag g sifem Wi w@ e i =gAam g0 T 931 [2+3=5
Draw the nominated ray diagram of the refracting astronomical

telescope and derive cxpressions of magnifying power when the final

image is at a minimum distance of clear vision.

3raar/0R
yr & sfaeto § 39 ¥4 wawa & 23 avi, A 3 a) A g, 9
Fitg Amgfd o # syemifae g € dud ofR fearmet saferero ) feaf
¥ dram T e (142423
What do you understand by interference of light? Two waves with

amplitudes a, and a, and angular frequency w are imposed. Find
the intensity in case of constructive interfercace and destructive

interference.
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Wnie the law of Biot-Savan and with the help of this law derm
an expression of the mtensity of the magnetic field at the centre of

circular coil camrying current.
3raar/OR
amirr ), o mermn il s TN TIRE
o §1 7= A F 5 oy wan w oA o2 am F A o vE
01 77 77 FeT 9@ v 3 = whem wa ) [3+1+1=5]
Two wires 1n which the current Iy and 1, are flowing, are placed
parallel 1o each other at a distance d. Find the expression for the
force exerted on the unit length of the other wire. When will it be the
attractive force and when will it be repulsive force?

s ¥ fm 2w m%mWhﬁmmmm
=z Ftaw ¥ fagn 49 1 ¥ sy dm [4+1=3]
Find the intensity of the electric field due to the linear charpe by the

law of Gauss and prove that the electric field is inversely proportional
to the distance.

fwit & mim @32 wafor =1 Ulﬁmiifaqqaﬁmmm
ﬁﬂ%ﬁaﬂmwﬁmmmmmmﬁl [1+4=5]
Establish the formula for capacitance of a panallel plate capacitor

that has a partially dielectric medium between the plates and

partially air.
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